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Analysis Plan during INTT workshop
Analysis topic 
• Searching the best value of DAQ0 to cut off a lot of noise 

• I made a linear function histgram of run data from DAC scan (My state) 

• I made a code to be able to make other Run's one by changing written number 

•   

• Making the graph which tells us which value is the best as DAC0’s value 

• Leranning about DAC more 

• Making other linear function histgrams of run data from DAC scan ← I did last week 

• Making graph about relation of DAC0’s value and the number of entries per Run data 

Current knowledge/status of this topic

Goal for the workshop

Milestones to reach to my goal



Summery of middle presentation
event number depending on DAC0’s minimum value

• [What I did] I made histgram about entries and ADC depending on  
different DAC0’s minimum value 

• [result] I found that ADC’s histogram form changes at DAC0’s 
minimum value = 30~40.



About what I did this week

• Making graph about relation of DAC0’s minimum value and the 
number of hits per events from intt0~7 data 

• I tried to make graph about relation of DAC0’s minimum value and 
the number of hits per events from intt0~7’s modules



• I found that the number of hits/events decrease by increasing 
DAC0’s minimum value

Making graph about relation of DAC0’s minimum value and the number 
of entries per events from intt0~7 data



About what I did this week

• Making graph about relation of DAC0’s minimum value and the 
number of hits per events from intt0~7 data 

• I tried to make graph about relation of DAC0’s minimum value and 
the number of hits per events from intt0~7’s modules



What is module?
• Intt detecter is consisted by intt0~intt7 

• Each intt0~7 has 14 half rather  

• Each half radder has 13 modules which is consists by 8 typesA and 5 
typeB. 

Half radder



• relation of DAC0’s minimum value 
and the number of hits/events from 
intt0~7’s modules(10,000events)



Intt0 Intt1 Intt2

Intt3 Intt4 Intt5



• I found that half of modules increase the number of hits/events from 
intt77 graph  

• These graph may be incorrect…

Intt7Intt6

• I tried to make graph about relation of DAC0’s minimum value and the 
number of hits per events from intt0~7’s modules



The graph made in around 2,500,000 
events (relation with DAC0’s minimum 
value and the number of hits)

Akitomo made in around 2,500,000 events with my code!



The graph made in around 2500000 events 
Akitomo made in around 2500000 events with my code!

• VIntt0 

• Intt1 

• Intt2 

• Intt3 

• Intt4 

• Intt5
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• It became more realistic than before 

• It seems that most of modules’s number of hits decrease 

• This graph seem to be correct…

Intt7Intt6



Next steps

• I will make the graph without hot cannel with Fun4All. 





2024/11/25（月）～

















11月28日(木)～
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